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Question 3 {4 points)

State your opinion of the following claims and justify it using at most a couple of sentences.

a)

b)

d)

Claim: The scope of any Java variable is unambiguously defined by use of visibility modifiers
(e.g. public)in front of the variable's definition.

Let us take a look at the method:
public static int doStuff (int number, int another} {
if {number < another) {
return 1;
} else {
return 2 + do3tuff (number ~ 1, another + 1);

w .
Claim: When this method is called with the parameter values 6 and 1, a so-called infinite
recursion occurs and eventually depletes the memory resources available to the program.

Claim: The use of the intermediate language Bytecode makes it possible to run the same Java
virtual machine program (JVM) on computers of many kinds.

Claim: The purpose of casting (also known as type casting) is to change the runtime type (also
known as the dynamic type) of a value to be different from its static type.

Question 4 (2 points)

Briefly describe what are unchecked exceptions. How do they differ from other kinds of exceptions?
Give a small example that illustrates that you understand the concept of unchecked exceptions.

Question 5 {2 points)

a) Briefly state your opinion on the following claim: Object-oriented programming (i.e.,
computer programming using objects and classes) is a new invention.

b) Define, using at most a couple of sentences, what is meant by the term program counter
when it is used in association with the execution of a Java program.



Lo TRRN I AL S0 T FTR N A

43z

; publie elass Parkingbot !

/7 containar
4/ stepper

private ParkingMetex[] meters;
private int counkt;

public Parkinglotiint size) {
this.meters = new ParkingMeter{size];
for (int space = 0; space < this.getSize{}; space++} { // space: stepper
thig.metersispace]l = new ParkingMster(;;
}
this.count++;

public int getSize{} {
return this.meters.length;

}

public boolean hasCar{int spacs;
return this.geiCar (space) != nuil;
e

public int getCarCount(} {
return this.count;
}

public Car getCar({int space} {
if (this. hasIndex{space}} {
return this.metsrsispace] .getCar{);
} else {
return null;

H

private boolean hasIindax{int space} {
Teturn space »>= 0 && Space < this.getSize{);
}

public int parki{Car cay) {
return this.park{car, this.findSpace!l)):
}

private int findSpace(} {
for {int space = §; space < this.getSize{}; space++} { // spacer stepper
if {ithis.hasCari{space}} {
refurn Space;

}

return -1;

}

public int parki{Car car, int space! {
if (this.find{car} < 0 && this.hasIndex{space) &&
this.meters{spacel.start{car}}) {

this, count++;

return space;

eige |

return -1;

o

public int departi{lar car) {
return this.departi{this.find{car}};
}

private int find(Caxr car) {
for {int space = 0; space < this.getSize{); space++} { S/ space: stepper
if {this.getCar(space} == gar} {
return space;
}
}
return -1;
}

public int depart{int space} {
if {this_ hasCar{space}} {
this.count--;
return this.meters{spacel].free(};
1 else |
refturn -1;

}

public void advanceOneHour{} {
for {ParkingMeter meter : thig.meters) { // merer: most-recent holder
meter . advancedours (1) ;
1

public String gethDescriptiont) {
String description = ""; // description: gatherer
for {ParkingMeter meter : this.meters) { A/ meter: meost-recent holder
description += meter.getDescription{} + "\m=;
H

return deseripiien;



